Problem 2.47

The resistors 
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 shown in the circuit are 
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 with a tolerance of 5% and 
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 with a tolerance of 10%, respectively.

a) What is the nominal value of the equivalent resistance?

b) Determine the positive and negative tolerance for the equivalent resistance.
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Suggested Solution

a) The nominal value is 
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b) The minimum and maximum values of 
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, and the minimum and maximum values of 
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.  Thus, the minimum and maximum values of 
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.  The positive and negative tolerances are

Positive Tolerance = 
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Negative Tolerance = 
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